



Nome: _____

Data: _____ Punteggio: _____

$$(4 - \frac{3}{4})^2 + \frac{1}{2} + \frac{1}{4} - 2^2 =$$

$$((\frac{2}{3})^2 - \frac{1}{2}) \times \frac{1}{3} + (\frac{3}{2} - \frac{1}{2})^2 =$$

$$(\frac{3}{2} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{3} + (\frac{3}{2})^2) =$$

$$(\frac{3}{4} - \frac{1}{5})^2 - \frac{1}{6}(\frac{1}{3} - \frac{3}{4}) =$$

$$((\frac{1}{2})^2 + \frac{2}{5}) \times \frac{1}{2} + (\frac{3}{2} + \frac{1}{2})^2 =$$

$$((\frac{1}{4})^2 + \frac{1}{6}) \times \frac{1}{3} + (\frac{1}{2} - \frac{3}{5})^2 =$$

$$(\frac{3}{5} - \frac{3}{2})^2 + \frac{1}{5}(\frac{1}{2} - \frac{3}{4}) =$$

$$(5 + \frac{3}{4})^2 + \frac{2}{3} + \frac{2}{5} - 4^2 =$$

$$(\frac{1}{2} + \frac{1}{3})^2 - \frac{2}{5}(\frac{1}{4} + \frac{2}{5}) =$$

$$(\frac{1}{3} + (\frac{2}{5})^2) \times \frac{1}{3} + (\frac{1}{3} + \frac{2}{3})^2 =$$



Nome: _____

Data: _____ Punteggio: _____

$$(4 - \frac{3}{4})^2 + \frac{1}{2} + \frac{1}{4} - 2^2 = \frac{117}{16} = 7\frac{5}{16}$$

$$((\frac{2}{3})^2 - \frac{1}{2}) \times \frac{1}{3} + (\frac{3}{2} - \frac{1}{2})^2 = \frac{53}{54}$$

$$(\frac{3}{2} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{3} + (\frac{3}{2})^2) = \frac{1}{2}$$

$$(\frac{3}{4} - \frac{1}{5})^2 - \frac{1}{6}(\frac{1}{3} - \frac{3}{4}) = \frac{1339}{3600}$$

$$((\frac{1}{2})^2 + \frac{2}{5}) \times \frac{1}{2} + (\frac{3}{2} + \frac{1}{2})^2 = \frac{173}{40} = 4\frac{13}{40}$$

$$((\frac{1}{4})^2 + \frac{1}{6}) \times \frac{1}{3} + (\frac{1}{2} - \frac{3}{5})^2 = \frac{311}{3600}$$

$$(\frac{3}{5} - \frac{3}{2})^2 + \frac{1}{5}(\frac{1}{2} - \frac{3}{4}) = \frac{19}{25}$$

$$(5 + \frac{3}{4})^2 + \frac{2}{3} + \frac{2}{5} - 4^2 = \frac{4351}{240} = 18\frac{31}{240}$$

$$(\frac{1}{2} + \frac{1}{3})^2 - \frac{2}{5}(\frac{1}{4} + \frac{2}{5}) = \frac{391}{900}$$

$$(\frac{1}{3} + (\frac{2}{5})^2) \times \frac{1}{3} + (\frac{1}{3} + \frac{2}{3})^2 = \frac{262}{225} = 1\frac{37}{225}$$